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OJIg & EXNsIEgs ol
81,000& * 2% * 3L x 103 4,860
EXNRXNREE 89 2,512 5,024 N2,512
201 LBt 1,540 3,080 AN 1,540
01 AP 22| H| 1,540 3,080 A 1,540
OSHRIALS Fa+g
70,000& * 1Y = 23| 1,540
301 Lt A= 972 1,944 N972
09 HAIAHI B A2 972 1,944 N972
OEXNRXNRES SKAss
81,000 * 6 * 23] 972
EX--8X 01 BEXZ2 A& 60,000 60,000 0
402 BI2H X 20| M 60,000 60,000 0
01 It EANSEXR (MMM A) 60,000 60,000 0
OEXNSXIY o)ldE2xX2 X
20,000,000& = 30 Xl 60,000
HHOHE & XE&2H5 6,614 5,464 1,150
RS =G 45 6,614 5,464 1,150
Xe3H HEEA 6,614 5,464 1,150




S AHEMDY

M FANMIOHE & NFEHs
Sl ARNE FXeiE s (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
201 Bt 3,050 1,900 1,150
01 AP 22| H| 3,050 1,900 1,150
OFMNNERAs EBASE
70,000 * 5% * 33| 1,050
ORMMNE EE=Z M 2,000& * 1,00074 2,000
202 044 3,564 3,564 0
01 2L Hl 3,564 3,564 0
O_’__laﬁ DI 9’|O|xl-/\'|
81,000 x 2% x 32 x 63 2,916
OAHME g2 &9
81,000 * 2% « 22 « 23| 648
HMSHAY (B M) 58,703 55,443 3,260
ol A Y| 26,771 26,451 320
ol =AY 26,771 26,451 320
101 Q124 H| 26,771 26,451 320
03 RIHS*ZZXHE = 26,771 26,451 320
OFGaSAl 22X 7= 26,771
cJl2gd(7ee) 1,224,460 * 1¥€ ~ 128 14,694
oA 2 1,224,460 ~ 1H « 48 4,898
ociRaHFIIEH 75,920& * 18 x 12¢ 912
o ™A FIHHI 1,224,460 * 110% 1,347
o XMAXMALH 160,000€ * 1H = 128 1,920
o g | 120,0008 = 1¥ * 12€ 1,440
oDl A 100,000€ * 1H = 128 1,200
o JIAH B Xl 30,000& = 1€ = 128 360
JlE&ddl 31,932 28,992 2,940
Jl2&Hl 31,932 28,992 2,940
201 et 26,212 23,272 2,940
01 AR 22l ] 23,712 20,772 2,940
OEM&8Y I3l 250,000& ~ 12€ 3,000
OMBZEE J1A(SAX S) 200,0008 * 12€ 2,400
OHHEANRID| 227
300,000& * 6CH = 23] 3,600
Odd4) s 50,000& * 14 ~ 12&€ 600
O3 &l 8,000& * 21 « 7Y x 128 14,112
02 2224 2,500 2,500 0]
oERe= 2,500
202 o4l 1,520 1,520 0
01 2Ll 1,520 1,520 0
OHl&4Z22 2l 1,520




S BHIHDY
Bu: WHS AU (AU
Sel: ol

_ _ — d =
SN FH-SA(EN) - MBAY - BES 0l &k o4 e
203 YR =&l 4,200 4,200
04 =AY RFT| 4,200 4,200
ORMSIYRFLHI 350,000& * 123 4,200




